MIAMI-DADE COUNTY, FLORIDA

MIAMI'DADE METRO-DADE FLAGLER BUILDING

COUNTY

BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAM]I, FLORIDA 33130-1563
(305) 375-2901 FAX (305) 375-2908

NOTICE OF ACCEPT ANCE (NO A) www.buildingcodeonline.com

MetalTech, Inc.

7635 West 2™ Court

Hialeah, Florida 33014

Scopk:

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately

to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.

DESCRIPTION: 0.031” (min.) Steel Storm Panels Shutter

APPROVAL DOCUMEN T: Drawing No. 98001, titled “ Maximum Impact Storm Panel ”, sheets 1 through 7
of 7, prepared by Ramms Engineering, Inc., dated January 10, 1998, last revision dated January 06, 2006, signed
and sealed by Robert S. Monsour, P.E., bearing the Miami-Dade County Product Control Revision stamp with the
Notice of Acceptance number and expiration date by the Miami-Dade County Product Control Division.
MISSILE IMPACT RATING: Large and Small Missile Impact

LABELING: Each panel shall bear a permanent label with the manufacturer's name or logo, city, state and the
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the Job site at the request of the Building Official.

This NOA revises & renews NOA # 01-1224.07 and consists of this page 1, evidence submitted pages E-1, E-2,
& E-3 as well as approval document mentioned above.

The submitted documentation was reviewed by I/Ijlmy A. Makar, P.E.

/ M\/ NOA No 06-0110.04
' Expiration Date: 03/22/2011

Approval Date: 06/01/2006
06/0'/2'006 Page 1




MetalTech, Inc.

—

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL #98-0304.03
DRAWINGS:

1L

Drawing No. 98001, titled “24 8a. maximum impact storm panel”, prepared by
Ramms Engineering, Inc., dated January 10, 1998, last revised on August 14, 1998,
sheets 1 through 7 of 7, signed and sealed by Robert S. Monsour, P.E.

TESTS:

1

Test report on Large Missile Impact Test, Cyclic Wind Pressure Test and Uniform
Static Air Pressure Test of a 24 ga. steel storm panels, prepared by Construction
Testing Corporation, Report No. 98-003, dated 02/27/98, signed and sealed by
Christopher G. Tyson, P.E.

Test report on Large Missile Impact Test, Cyclic Wind Pressure Test and Uniform
Static Air Pressure Test of aluminum storm panels, prepared by Construction
Testing Corporation, Report No. 98-005, dated 05/21/98, signed and sealed by
Christopher G. Tyson, P.E.

CACULATIONS:

1.

2.

Comparative Analysis, dated February 18, 1998, pages 1 through 4, prepared by
Ramms Engineering, Inc., signed and sealed by Robert S. Monsour, P.E.

Revised calculations for Comparative Analysis and Anchor Spacing Analysis, dated
June 4, 1998, pages | through 49, prepared by Ramms Engineering, Inc., signed
and sealed by Robert S, Monsour, P.E.

Revised calculations for Anchor Spacing Analysis, dated August 3, 1998, pages |
through 35, prepared by Ramms Engineering, Inc., signed and sealed by Robert S.
Monsour, P.E.

Revised calculations for Anchor Spacing Analysis, dated September 1, 1998, pages
I through 94, prepared by Ramms Engineering, Inc., signed and sealed by Robert
S. Monsour, P.E,

MATERIAL CERTIFICATION:

L

2.

Mill Certified Inspection Report dated December 10, | 997, prepared by Kieh Co.,
Jor steel panel

Certified Tensile Test Report by Certified T esting Laboratories, Report No. CTL-
076D, dated 02/04/98, signed and sealed by Ramesh Patel, P.E.

" 'Helmy A. Makar, P. E.
Producet Control Examiner

NOA No 06-0110.04

Expiration Date: 03/22/2011
Approval Date: 06/01/2006



MetalTech, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

i

EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL #00-1207.03

A.  DRAWINGS:

1 Drawing No. 98001, titled “24 8a. maximum impact storm panel”, prepared by
Ramms Engineering, Inc., dated January 10, 1998, last revised on December 15,
2000, sheets 1 and 5 of 7, August 14, 1998, sheets 2, 3, 6, and 7 of 7, and on
December 4, 2000, sheet 4 of 7, all signed and sealed by Robert S. Monsour, P.E.
on December 22, 2000.

B. TESTS:
1. None.

C. CACULATIONS:
1. None.

D. MATERIAL CERTIFICATION:
1. Norne.

EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL #01-0205.01

DRAWINGS:

1 Drawing No. 98001, titled “24 8a. maximum impact storm panel”, prepared by
Ramms Engineering, Inc., dated January 10, 1998, last revised on January 17,
2001, signed and sealed by Robert S. Monsour, P.E. on January 29, 2001,

> W

B. TESTS:
1. None.

C. CACULATIONS:
1 None.

D. MATERIAL CERTIFICATION:
1 None.

=

EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL # 01-1224.07

A. DRAWINGS

1 Drawing No. 98001, titled *“ Maximum Impact Storm Panel ', sheets | through 7
of 7, prepared by Ramms Engineering, Inc., dated January 10, 1998, last revision
dated September 09, 2002 signed and sealed by Robert S, Monsour, P.E.

! Melm&%R E.
Product Control Examiner

NOA No 06-0110.04

Expiration Date: 03/22/2011
Approval Date: 06/01/2006




MetalTech, Inc.

N

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

TESTS

1. Test reports on Large Missile Impact Test per SFBC, PA 20]-94 along with
installation diagram of Steel Storm Panel Shutter, prepared by American Test Lab
of South Florida, Test Report No. 0 502.02-02, dated May 09, 2002, signed and
sealed by William R. Mehner. P.E.

2. Addendum to Test reports on Large Missile Impact Test per SFBC, P4 201-94 of
Steel Storm Panel Shutter, prepared by American Test Lab of South F, lorida, Test
Report No. 0.502.02-02, dated July 09, 2002, signed and sealed by William R.
Mehner, P.E.

CALCULATIONS
1 Comparative analysis, prepared by prepared by Ramms Engineering, Inc., dated
January 14, 2002, signed and sealed by Robert S, Monsour, P.E.

MATERIAL CERTIFICATIONS
1. None.

NEW EVIDENCE SUBMITTED

DRAWINGS

1 Drawing No. 98001, titled “ Maximum Impact Storm Panel ', sheets | through 7
of 7, prepared by Ramms Engineering, Inc., dated January 10, 1998, last revision
dated January 06, 2006, signed and sealed by Robert S. Monsour, P.E.

TESTS
1 None.

CALCULATIONS

L Revised calculations for Anchor Spacing Analysis, dated January 06, 2006, 88
pages, prepared by Ramms Engineering, Inc., signed and sealed by Robert S,
Monsour, P.E.

QUALITY ASSURANCE
L By Miami-Dade County Building Code Compliance Office.

MATERIAL CERTIFICATION S
1 None.

Vlmgdi

elmy A. Makar, P. E.
Product Control Examiner
NOA No 06-0110.04
Expiration Date: 03/22/2011
Approval Date: 06/01/2006



r-— - _ _—

2 3/8’ T_ﬂ“_'__ , COMPLIES WITH: 24 ga REVISIONS | B7
l . 2 3/8" . 5 13716 FLORIDA BUILDING CODE " 03/20/98(sp
] {110 . | I e | TESTED TO TAS201, TAS202 AND TAS203 06/12/98sp
12T @ o | = 050 S DESIGN CRITERIA: a | [os/14/98[se
] = -
< « Q 3 S L 4 WIND LOADS TO BE CALCULATED AS PER ASCE 7 L 12/15/00 |sP
% ® 3@ | & H1 " LVARIES 3" Max. ][ - 01/17/01 [sp
o P2 — ™ 3 S Q @ o NO INCRESE IN ALLOWABLE STRESS WAS USED IN THE DESIGN OF THIS PRODUCT ¢ 07/15/02 |sp
wee (" 2! .090 - GENERAL NOTES: A1 [05/09702[se
2’ T | e 1 - ALL ALUMINUM EXTRUSIONS TO BE ALLOY 6063-T6 OR EQUAL =2 01705706 =
. . . | 2’ ‘ STORM PANELS SHALL BE: g
& 5/8" & & 24 GAUGE STEEL, ASTM A653 SQ GRADE E MIN. Fy = 90 K.S.. MINIMUM VALUE
7/169—+ N N 3/84%—4 S WITH .031 MINIMUM THICKNESS = .
. . . :"I‘ . :"I‘ . :"I‘ @ @ HOT DIP COATED. WITH A NOMINAL WIDTH OF 12 1/2° /) )
¥ NS . N 1/8" I o o b
g]}ﬂ‘ e "’E}_W & S @ g g u L2H N LIH THE STORM PANEL SHUTTER MAY BE INSTALLED VERTICALLY OR HORIZONTALLY, <
S @ Y 093 by 093 & 093 1/8" MIN = 1 /8" MIN IN ACCORDANCE TO THE DETAILED SPECIFICATIONS HEREIN. N
-— — — . . - g
FLAT BAR FLAT BAR VY - PANELS MAY BE NOTCHED OR MITERED TO ACCOMMODATE AN OBSTRUCTION )
pre2loe | @ | - | | | e I PANELS MAY HAVE A RIPPLED SURE GRIP OR A HEMMED EDGE z § -
oy -
VARIOUS TYPES OF F—TRACK NOT SHOWN ANCHORAGE OF THE SHUTTER SYSTEM TO CONCRETE OR MASONRY SHALL CONSIST OF W ﬁ 5 E
— 0 THE FOLLOWING OR EQUAL WITH MINIMUM ULTIMATE LOAD VALUES SHOWN O .
_ 11/2° 1/4" DIA. RAWL LOK/BOLT ANCHOR ( SLEEVED DRIVE ANCHOR ) s E S
MIN. TENSILE 1190 — MIN. SHEAR 1520 — 1 1/8" MIN. EMBED. IN CONCRETE = s 3
125 0'-3/4" MIN. TENSILE 1200 — MIN. SHEAR 1270 — 1 1/8" MIN. EMBED. IN MASONRY O R §
VARIOUS DEGREE — = 1/4-20 RAWL CALK—IN ANCHOR ( MACHINE SCREW ANCHOR ) WITH 1/4-20 BOLTS = :
M CORNER PAN ] @ | VARES x MIN. TENSILE 1870 — MIN. SHEAR 1730 — 7/8" MIN. EMBED. IN CONCRETE Q0 z
. ) RETURN N T N L3H MIN. TENSILE 880 — MIN. SHEAR 1340 — 7/8" MIN. EMBED. IN MASONRY
o I g - 1/4" PERMA—SEAL TAPPER BY RAWL ( MASONRY SCREWS VARIOUS HEAD TYPES ) (~
S . g @ 0 @ MIN. TENSILE 1520 — MIN. SHEAR 1980 — 1 1/2" MEN. EMBED. IN CONCRETE = <
— ® rJ/vs'I 2 % % MIN, TENSILE 880 — MIN. SHEAR 1270 — 1 1/4" MIN. EMBED. IN MASONRY = g
K| > ~ @ 1/4" ZAMAC NAILIN BY RAWL ( ZAMAC HAMMER DRIVES ) S 8
100 0 1/8" MIN. MIN. TENSILE 980 — MIN. SHEAR 1400 — 1 3/8" MIN. EMBED. IN CONCRETE 7 e
% - {060 MIN. m 060 MIN. ﬁ MIN. TENSILE 730 — MIN. SHEAR 1320 -~ 1 1/4" MIN. EMBED. IN MASONRY a
T1? N I | N
| 1 1720 N 2 1/4” ANCHORAGE TO WOOD CONSTRUCTION SHALL BE 1/4" STEEL LAGS OR LARGER
BLOCKING WITH 1 MIN. THREAD PENETRATION, 1/4—20 BRASS WOOD BUSHINGS OR .
1/4" ELCO PANEL MATES OR MASONRY SCREW WITH 1 7/8" MIN. THREAD PENETRATION. i s
n
N\ REFER TO SHEETS 5,6 & 7 OF 7 FOR ANCHOR SPACING AND MINIMUM EMBEDMENTS E j
'y
7/8° 1 3/32* 3 7/32* 1 3/3p"' VARIES IT SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR TO VERIFY THE SOUNDNESS OF THE s -
1 i ! TV — STRUCTURE TO WITHSTAND THE ADDITIONAL LOADS AND INSURE PROPER ANCHORAGE. : E
. CORNER PAN ] l
™ EACH PANEL SHALL BEAR A PERMANENT LABEL OR STAMP SHOWING Cd 1
@ * METALTECH, INC. HIALEAH, FL ™ * DADE COUNTY PRODUCT CONTROL APPROVED T
S i o L3H WARNING TO OWNER OR TENANT LOCATED IN EACH HEADER OR ONE PANEL OF EACH OPENING, = 5
\ / STATING * STORM PANELS WILL NOT OFFER HURRICANE PROTECTION UNLESS ALL REINFORCING o
1/8" MIN. STRAPS OR BOLTS ARE PROPERLY INSTALLED, WHEN REQURED * < z
3 | =¥ 9
w S eerssm— |
SPECIAL NET PANEL SECTION — PERMANENT FASTENER COMPONENTS, EMBEDDED ANCHOR BOLTS, THREADED CONES t-'ﬁ
| e | OR METAL SHIELDS, NOT IN USE, MUST BE PROTECTED AGAINST CORROSION, Bad
CONTAMINATION AND DAMAGE AT ALL TIME. 3
]
n
(4]
N
7/8 1.3/37 37/3° . 31/3@" 3 7/32° 1.3/327 7/8" AL sTUS 387 ( TP, ) 13 ; KN~
STUD MAY BE INTALLED ALL APPLICATIONS £5 S . . I
. IN REVERSE DIRECTION ‘;__————’- INGLUDES STUDDED T1 ‘NGLES STUODER.Y _3/4 DA e @
% TYPICAL SN 1/4-20 X 3/4 . . I
N 1/8% 18—-8 STAINLESS STEEL o Ly Ny U
@ e KNURLED STUDS ] i
- 12 1/ 2" o.c. - s H
[ l —l——— REFER TO APPLICATIONS ON SHEETS 2 & 3 7-4’1é5 THICK Q:'. prmmmppgp——
. . ANCHOR MOUNTING HOLES LOCATED ON R OIE P, = SEP/JRB
) MOUNTING HOLES 12 1/2" O.C. | 3/4 EITHER HORIZONTAL OR VERTICAL LEG, KEY HOLE WASHER PROBUL Q ‘ o
l ST - as somply ©
w ¥ ‘ it 4 Ly e
4\’[ .neﬂ ey : Acee S | 01/10/96
CROSS SECTIONS ' YO \ B 3 s
@ =LA ' xg © 98001
STUDDED ANGLE DETAIL AR Byl oS S e
ROBERT-'S. "MONSQUR, PE Msgaﬁnn.ﬁmﬁ’wdmi@@.‘.&am g
1/8" x 1 1/2" FLAT STUDDED STRAP MAY BE USED IN PLACE OF ANGLE EB--0008024 Do R
RAS ENGINEERING, INC. . 7 e




uore* CONNECTION TYPE "B"

DETAIL 1

SEE ANCHOR SCHEDULE
CONNECTION TYPE "D”

OBSTRUCTION

4 |  SEE ANCHOR SCHEDULE

HEADER or SILL

OR@ FLANGE MAY BE REVERSED

1/4-20 THRU BOLT
W/ LOCK NUT 12° O.C.

@@@m@)

HEADER or SILL

DETAIL 5

e SEE ANCHOR SCHEDULE

CONNECTION TYPE "B”

(2) OR OTHER HEADER or SILL
PROPER CONNECTION TYPE

2 PIECES FASTEN TOGETHER WITH
#64 RIVETS OR #8 TECK SCREWS

DETAIL 9

RETURN PAN, ANGLE, TUBE O
TO CLOSE OFF ENDS

RETURN PAN

FLOOR PLUG AND MACHINE VARIOUS SIZES
r SCREW ANCHOR 12" 0.C.
0 5/8 X 1 1/2 FLAT BAR
WINGNUTS

LN\
u;}u%
g
3
3

NEEDED Fi
MAXIMUM ADD
PANEL
3/16
3 @0
/

CHEADE,"\’ or SILL

DETAIL 2

REFER TO THAT APPLICATION FOR

@ or @ HEADER or SILL

SEE ANCHOR SCHEDULE

CONNECTION TYPE "C” SEE ANCHOR SCHEDULE

CONNECTION TYPE "A”
DETAIL 3

@ @ HEADER or SILL
OR MAY BE INSTALLED IN REVERSE DIRECTION

CONTINUOUS BLOCKING
18) 5 ) 3/16 ANGLE -

BOLTED TOGETHER WITH
1/4-20 THRU BOLT W/ LOCK NUT 6" O.C.
USED AS HEADER OR SILL

- —_“I._r" MIN.
SEE ANCHOR SCHEDULE
CONNECTION TYPE "E”

DETAIL 6

OMC)

HEADER or SILL
MAY BE INSTALLED IN REVERSE DIRECTION
AS IN DETAILL 6

OR

CONTINUOUS BLOCKING
3/16 ANGLE

BOLTED TOGETHER WITH

USED AS HEADER OR SILL

o v G .ggl;lgl%ﬁ BLOCKING
12” o.c. T or
7 5/8" MAX. R 1/4—20 MASHINE SCREW ANCHOR

L PO WITH SIDEWALK BOLT

A L B'i'l gR Nl  MASONRY SCREW 3" oc
Cel ke L 1 DGE DISTANC,

657 PSF MAXIMUM . “E0~"pr £Q- POURED CONCRETE ONLY

MAXIMUM PANEL HEIGHT 79% » .+ - » .

DETAIL_10

OPTIONAL USE OF 1/8” ANGLE
/ FOR PURPOSE OF EXTENDING WALL
FLOOR PLUG AND MACHINE

SCREW ANCHOR 12* 0.C. \

MUST BE USED ON ALL EUILD OUT CONDIWOAB

SILL
1

/ \

WIDTHS.
0 WITH A
OoF 3 FASTENED TO
BY THE USE OF 564
IBULAR RIVETS 4
HRU BOLTS 16* 0.C.

2 /[x\ D
SLOTTED WUN"NG HOLE MAY BE USED
L@ 5

CENTER WEI
SPECIAL PAN APPLICATIONS.

8 OF PANEL. TYP. FOR ALL HEADER ON TOP

SILL ON BOTTOM

1/4=20 x 3/4 KNURLED STUDS

WITH WASHERED WINGNUTS (TYP.)
OR 1/4-20 RIVETNUT

WITH 1/4-20 FLOOR PLUG (TYP.)

MAXIMUM GAP BETWEEN STROM PANEL
AND D.L.O. SHALL NOT EXCEED 1/4"
AS VIEWED FROM FRONT VIEW

CORNER PAN

w

HEADER or SILL MAXIMUM IMPACT' STORM PANEL

@or@

» HEADER or SILL

1/4-20 THRU BOLT W/ LOCK NUT 6" O.C.

ad\ I

ANGLE MAY VARY

/E\\J—\J T

/]* ©——_ 10
A /_\ f\ ‘ 2 PLAN Vieho PANEL NOTCHED AT aomw
e ' Al T0 PASS OVER STUD AN
A B C&D WINGNUT IN SILL (EACH sme)

P iEo J MIN., =
o SEE ANCHOR SCHEDULE . '
CONNECTION TYPE "C” i ‘
DETAIL 4 E —
HORIZONTAL INSTALLATION VERTICAL INSTALLATION
ELEVATION ELEVATION

SEE ANCHOR SCHEDULE
CONNECTION TYPE "A”

OR OTHER HEADER or SILL
REFER TO THAT APPLICATION FOR

PROPER CONNECTION TYPE SEE ANCHOR SCHEDULE
CONTINUOUS WOOD BLOCKING -
VARIOUS SIZES DETAIL 8

DETAIL 7
E.D.
SEE ANCHOR SCHEDULE
WINDOW OR DOOR 2 CONNECTION TYPE "D"
OPENING
2 3/4" MAX,
/ o OR CONTINUOUS BLOCKING
BOLTED TOGETHER WITH
1/4-20 THRU BOLT W/ LOCK NUT 12* o0.C.
NOTE W
D OR CONTINUOUS BLOCKING

1/4=20 x 3/4 KNURLED STUDS
WITH WASHERED WINGNUTS 12 1/2” 0.C. (TYP.)

MAY BE MOUNTED YERTICALLY
OR HORIZONTALLY

DETAIL 11

Col
STORM PANEL

NOTE: X

IT SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR

7O VERIFY THE SOUNDNESS OF THE STRUCTURE TO WITH
STAND THE ADDITIONAL LOADS AND INSURE PROPER ANCHORAGE.
SHUTTER SYSTEM MAY BE INTSALL INTO WOQD, CONCRETE,
MASONRY.

WHEN ANCHORING TO WOOD, THE wOOD MUST BE

A MINIMUM 2 X 4 EQUAL TO #2 SOUTHERN PINE
WITH 0.55 SPECIFIC GRAVITY

AND STRUCTURALLY FPART OF THE FRAMING STRUCTURE
OR SUCURELY ATTACHED TO FRAMING STRUCTURE

(WWM@

ROBERT S. MONSOUR, PE
EB—-0006024

PRODUCT REVISED

As complying with the Flovids
Buiding Code

Actep cnce Huf) b =0/ 0- 04.

Divizion

BUILDING CODE COMPLIANCE |

RAMS ENGINSERING, INC.

REVISIONS
03/20/98|sP
06/12/98
08/14/98
01/17/01

01/06/06

w

2100 W. 78th STREEY, SUNE 311
HIALEAH, FLORIDA 33016

RAMMS ENGINEERING, INC.

EB D0O0E024

HIALEAH, FL 33014

' METALIECH,

EST.1957




1/4-20 FLOOR PLUG WITH
MACHINE SCREW ANCHOR
HEADER OR SILL

CONCRETE OR MASONRY ¢ .

NOTE: )X

-

HEADER OR SILL

CONNECTION TYPE "4”" N\
" -;?— = NOTE: Mo | OO, CONCRETE OR MASONRY
. P . g
it THE METALTECH STORM PANEL MAY BE INSTALLED WITHOUT s EDR oaw
‘ED. » THE USE OF AN EXTRUDED HEADER OR SILL. L CONNECTION TYPE "A'
: THE SHUTTER MAY BE ANCHORED DIRECTLY TO THE y 10 DEFEC
REFER TO DEFECTION STRUCTURE WITH THE USE OF ONE OR A COMBINATION REFER 10 Colarr™
CHART OF DETAL 13
B “en ] GLASS
oLAss s NoTE X o —-—
ST -
MEFAETko 9 | _ Mermno.
STORM PANEL — P STORM PANEL
\ '/
.

CONNECTION '

1/4-20 FLOO
1/4-20 BRAS.

PLUG WITH
WOOD BUSHING
HEADER OR SILL INTO WOOD

HEADER or SILL

K

i
—3/4" MIN, 1 1/4" MAX,

SEE ANCHOR SCHEDULE
CONNECTION TYPE "B"

SEE ANCHOR SCHEDULE

CHE)‘\DEI? or SiLL

DETAIL 16

DETAIL 15

0 @ @ar@HWER or SILL

\— SCREWED OR BOLTED TOGETHER WITH
1/4-20 THRU BOLT W/ LOCK NUT 12" O.C.

45/ 4" MAX,

CONTINUOUS BLOCKING
O 0R® 1/4" ANGLE

1/4~20 MASHINE SCREW ANCHOR
WITH SIDEWALK BOLT

OR 1/4" MASONRY SCREW 3" O.C.
3" MIN. EDGE DISTANCE

POURED CONCRETE ONLY

50.5 PSF MAXIMUM / PANEL HEIGHT 109" MAXIMUM
DETAIL 21

ADJUSTABLE HEADER OR SILL

CONNECTION TYPE "C”

TION TYPE "A”

1/4 " PANEL MATE |WITH MACHINE SCREW HEAD

WITH 14-20 SIDEWALK BOLT

HEADER OR SILL

WOOD, CONCRETE OR MASONRY

or
HEADER or SILL

SEE ANCHOR SCHEDULE
CONNECTION TYPE "A”

DETAIL 17

NOTE: X

(7) HEADER or SILL

e, NoTEY
SEE ANCHOR SCHEDULE
CONNECTION TYPE "C”

DETAIL_18

IT SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR

TO VERIFY THE SOUNDNESS OF

THE STRUCTURE TO WITH

STAND THE ADDITIONAL LOADS AND INSURE PROPER ANCHORAGE.
SHUTTER SYSTEM MAY BE INTSALL INTO WOOD, CONCRETE,

MASONRY.

WHEN ANCHORING TO WOOD, THE WOOD MUST BE
A MINIMUM 2 X 4 EQUAL TO #2 SOUTHERN PINE

WITH 0.55 SPECIFIC GRAVITY

AND STRUCTURALLY PART OF THE FRAMING STRUCTURE
OR SUCURELY ATTACHED TO FRAMING STRUCTURE

1/4” PANEL MATE SCREW WITH 14-20 STUD HEAD
_ sWITH WASHERED WINGNUT

®or(e

PANEL SECURED WITH —_

WASHERED WINGNUTS

STUCCO FINISH _./

REFER TO DEFECTION
CHART

METALIECR, oe
STORM PANEL

PRESTUCCO INSTALLATION

SEE ANCHOR SCHEDULE

DETAIL 19

oL
M7

ROBERT S. MONSOUR, PE

EB-0006024

RAMS ENGINEERING, INC.

DETAIL 14

CONNECTION TYPE "A"

(&)o@ HEADER or SILL e

MAXIMUM MPACT- STORM PANEL

1/4-20 MACHINE SCREW ANCHOR

1 TR

1.125 DIA MOLDED NYLON CAP

1/4-20 N/S FLDOR PLUG

DI f,s—JLs/a' STANDARD 1" NAX,

DETAIL_20

PRODBUCT FEW“)EB .
a5 complying with the Fioride

Buiding Code
o0 O~ 2 04

Lol

Tapiratien 203/%.

BylleAe
torat Dage

Ritam

Divisicn

Gt Coomives

BUILDING CODE COMPLIANCE |

REVISIONS BY

03/20/98|sp

04/20/98|sp

06/12/98|spP

08/14/98|sp

01/17/01 |[sp

§101/11/02 |sP

101/06/06 |sp

2100 w. 78ih STREET, SUITE 311
HIALEAM, FLDRIDA 33016

RAMMS ENCINEERING, INC.

EB 0008024

HIALEAH, FL 33014

' 7Mm wI-Z:I:ﬁEI ECH, ixc.

EST.1957

SEP / JRB / RSM

[
01/10/97

wokE
SHOWN

o
98001
3




REVISIONS BY
THE METALTECH STORM PANELS MAY BE INSTALLED WITH OR WITHOUT THE 24 GA MAXIMUM MPACT- STEEL STORM PANEL 03/20/98]sp
24 ga. STEEL HORIZONTAL BRACE STRAP. REFER TO PANEL DEFLECTION CHARTS. 06/12/98|sp
08/14/98|sp
DESIGN PRESSURE| PANEL SPAN
” 142" MAX. PANEL HEIGHT nn 142" MAX. PANEL HEIGHT 12/04/00 jsp
21.93 6
: 142 NO PANEL STRAP S o ONE PANEL STRAP 01/17/01 |sp
25 51 139 7 IS REQUIRED N LOCATED MIDSPAN 01/11/02 |spP
. g 09/09/02|sp
) O Q g
29.99 | 136 3| B HIGH VOLOCITY HURRICANE ZONE <= HIGH VOLOCITY HURRICANE ZONE —
” b ANEL DEFLECTION CHART = 'ANEL DEFLECTION CHA
59.56 | 132 1% WITHOUT HORIZONTAL STRAP : - WITH HORIZONTAL STRAP
37 .44 130" N\ N PANEL HEIGHT | 090" | 90"-142" .‘ig 3 PANEL HEIGHT | 0™—104" | 104’-142" )
39.10 | 129”7 T WALL MOUNT | 2 5/8" | 3 1/2” . 3 WALL MOUNT 2” 2 1/4" pa
: INSIDE MOUNT | 2 5/8" | 3 1/2” g I INSIDE MOUNT 2” 2 1/4” .
40.77 | 127" FRONT view sipe view | BUILD ouT | 2 5/8” | 3 1/2” FRONT ViEW s vew  |_BUILD OUT 27| 2 14 9 ;
MINIMUM DISTANCE BETWEEN GLASS AND PANEL MINIMUM DISTANCE BETWEEN GLASS AND PANEL — 5.
44.40 | 124" O RE
ING ON APPLICATION : &
47.81 | 123 HORIZONTAL BRACE STRAP HEADER AND SILL TYPE MAY VARY. DEPEND , W B
2 DETAIL 13 ON SHEET 3 DETAIL 34, & 8 DETAIL 1 ON SHEET 2 DETAILS 5,7,9,10 AND 11 DETAIL 2 ON SHEET — § 3
51.23 119 1/4-20 STUD 3/8" (TvP,) ON SHEET 2 DETAIL 15 ON SHEET 3 ON SHEET 2 DETAIL g ON SHEET 3 W) 5 §
WITH WINGNUT N yal 2
58 06 1107 12 1/2" o.C. }ﬁ [m § N N § HfR HEADER NN ) B\ &
] N K - < K |
61.47 | 109" 1/8" X 3/4" ANAN >5§§ AN >>§$ IT Q_)\\_..F., -~ .
FLAT ALUMINUM BAR r | g A § ‘_N;\_S\ > g
66.85 | 104" SIDE VIEW ~ FRONT VIEW 32 3 é ) I 3 % 5
71.46 | 100" o I REE € | |Y 3 il BEIE 8 | | 3 of | | 3 &~ g
' ; CLIAL £ B B[ A R 50
75.30 | 95 S| : & | : Sy | ° & | & E ARE .
2 !n. “ § 3 “ gl “ E §°~ . :n. . r_ia
81.45 | 88 - : i 3 & & 3 3 3 1
” -
86.85 | 52 4 ¢ o ss o oo
97'44 78 , # ——~# GLASS ~~tm u§
USE 59.5 P.S.F. COLUMN AND 124" PANEL SPAN MAXIMUM GAP BETWEEN PANEL ——x f'““‘* f —x ﬁ/"L K b i
ON ANCHOR SCHEDULE FOR ANCHOR SPACING FOR AND HEADER IS 1/4” (TYP.) % % SILL SiL a SiL '-15'
SPANS OV ” 25—
OVER 124 DETAL_F_ DETAIL 13 ON SHEET 3 DETAIL 3,4, & 8 DETAILS 3,4 AND 8  DETAILS 5,7,9,10 AND 11 DETAIL 4 ON SHEET 2 -
ON SHEET 2 ON SHEET 2 ON SHEET 2 [—18
u
3’ - g~ T ajeps WALL MOUNT WALL MOUNT WALL MOUNT BUILD ouT INSIDE_ MOUNT ;..1:
- X //_ ' WITH HDR. AND SILL WITH HDR. AND SILL WITH HDR. AND SILL
[l _cho |34 €30 1 Aon s BoTToM R s oTon o
T 300 — Q oo NO HDR. OR SILL WITH STUDDED HOR/SILL o
O = \ f— B
T~3/4° DIA. é” ™N-3/4* DIA. g,, . 3/4°DIA. TYPICAL SECTION VIEWS , 0
FASTENER MUST BE IN NORROW PORTION OF KEY HOLE, ‘f"—f ] .' . E
IF NOT A KEY HOLE WASHER SHOULD BE USED % !
MOUNTING HOLE MAY ALSO BE A /16" DIA. CIRCLE 125 THICK §
9 -, 32 . RN o Ej m
DETAIL_ G KEY HOLE WASHER ST YDUCT REVISED 3 | sep/Re |
* L o nlying with the Florida Q
w e & s o JTeges
S SHOWN
I . m : A% © -
o 98001
HORIZONTAL BRACE STRAP —~ PANELS MAY RUN CONTINUOUS BY WIDTH LA l M 01\@ 2 v
LEADER AND SILL EITHER HORIZONTALLY OF VERTICALLY ROBERT" & MONSOSE PE % 4
m
EXPLODED ASSEMBLY EP?W e(gﬁ(%gg‘gm .
ﬁ w

I _ I A



ANCHOR

SCHEDULE

ANCHOR SPACING vs DESIGN PRESSURE

UP TO 59.6 PSF

UPTO 71.5 PSF

AND CONNECTION TYPE POURED CONCTETE CONCRETE BLOCK POURED CONCTETE CONCRETE BLOCK
CONECTION TYPE
P T — CONECTION TYPE BCONIEC'IE:ON_']'|1F’T3 ' . - ‘ BCON|ECT(130N TF’E | =
+
. " 116018 08 13 .13 16 113 .10 (13 : 13 |16 7. .13 .13 116 .13 . 8 .13 .13
68" SPAN R I T T e e o - R T P R - T T T
@@ T =—] z 61378 e e T3 e 133
3 4 13 13 14 13 4 13 13
1/4" RAWL LOK/BOLT (SLEEVE ANCHOR) | 88" SPAN " 4 n 88 9.0 114 6. 6. 9.5 19,
11/8" MIN. EMBEDMENT 174 | 43 710 4 iR T e T s g R T e R R g """"" 80901208 08 L8 9.
3" 4
105"5pan P -------»--~----4- ------------------------------- ‘-5 -----------------
11/4" 4. 4
3 3 3
124" span 2"
11/4"
3Il —
i 68" SPAN 2 e T B
e 11/4u “--'-“>>~---‘>~-5- ----------------------------------------------------
_— 7V 3"
88" SPAN R T - P I R i e R R - SR PCEE EEFCEEE SRR I,
1/4" RAWL ZAMAC NAILIN DRIVE 114"
(HAMMER DRIVE ) 3
1 3/8" MIN. EMBEDMENT IN CONCRETE | 105" span 2
1 1/4" MIN. EMBEDMENT IN BLOCK 114 g
3"
124" span 2"
11/4" :
VARIOUS HEAD TYPES 3 " )

A | o s 2 o fae s e as s i T
= B é 7
o= i R R R R

7 : : f
(MASONRY SCREWS) 105" span > ; ST A 4,543
1/4" RAWL PERMA-SEAL TAPPER 11/4" : 8. 3 :
1/4" ELCO PANEL MATES 3 " :
1 1/2" MIN. EMBEDMENT IN CONCRETE | 124" span 2 :
1.1/4" MIN. EMBEDMENT IN BLOCK 11/4" Z
3" E S
68"SPAN | 25 . 9 R s s 3....8 :
g: ]g 12 : g 12 '12 13 013 75 T3 v e T T e e 0 e a0 0
o L3 [1e 13 9 113 113 1209 5 12 .12 |16 46 .
:a/:\-:/ﬁxc:/a ,1/2" DIA. 86"SPAN 25" |16 .13 : 8 13 13 111 '8 5 711 110 16? """" 1212190 """ ijgg
e ChLN 2 {146 43 6 i3 13 10 17 4 T40 o |6 ® B U1 Iip s T4 Ua s e
(MACHINE SCREW ANCHOR) 3 16,10 .8 .13 .13 |10 . 5 . 4 .7 .8 |16 7 .8 .3 ; :
7/8" MIN. EMBEDMENT 105" span 25" 16 R A 13777 137 g 7 4 4T 7l 8 T g 3 8 3 .4 4 .3
o ‘ R T SRR T ERL Y [ D B A NSRRI ;
z 4 3
124"span | 25"
> i 5

&
=
E('
Q
S| |L_spure |
S e
” Lé' 01475495
| e, Ot l AL 8 S/mN
| withd DG Pt Caniwol 10k
: Za Division % 96001
v . 3" g L Ny ) a
ROBERT &~ MONSOUR, PE § 5
EB-0006024 S
RAMMS ENGINEERING, INC. 7
__J A" v

NOTES:

SPANS AND LOADS SHOWN IN THIS SCHEDULE
ARE FOR DETERMINING ANCHOR SPACING ONLY.
FOR ALLOWABLE SPANS VS. DESIGN LOADS
REFER TO SHEET 4.

MINIMUM ENBEDMENT AND EDGE DISTANCE EXCLUDES
STUCCO AND/OR WALL FINISHES.

SHADED AREAS REPRESENT ANCHOR CONDITIONS THAT
ARE NOT ACCEPTABLE.

IT SHALL BE THE RESPONSIBILITY OF THE
CONTRACTOR TO VERIFY THE SOUNDNESS OF
THE STRUCTURE TO WITH STAND THE ADDITIONAL
LOADS AND INSURE PROPER ANCHORAGE.
SHUTTER SYSTEM MAY BE INTSALL INTO WOOD,
CONCRETE OR MASONRY .

r
REVISIONS BY

03/20/98|sp

06/12/98|sp

08/14/98|spP

12/15/00 jsp

01/17/01 isp

01/05/06 |spP

\ s

J

RAMMS ENGINEERING, INC.
Sictinat  Dosign

EB 0006024

FL 33014

HIALEAH,

| I IWE'IC‘:QAI;'TI ELCH, vc.

EST.1957

f—H'-—T




ANCHORFR

SCHEDULE

NOTES:

ANCHOR SPACING vs DESIGN PRESSURE

AND CONNECTION TYPE

UP TO 81.5 PSF

UPTO 91.4 PSF

POURED CONCTETE CONCRETE BLOCK POURED CONCTETE CONCRETE BLOCK
CONECTION TYPE CONECTION TYPE CONECTION TYPE CONECTION TYPE
ANCHOR TYPE PANEL ED. A|B|c|Dp|]Ee | A]B]c|[D | E|A]B]C | DJ]E A]B]C]|DIJE
3 115 .10 .6 .13 .13 | 16 .10 . 7 .13 .13 |13 : 7 .5 .9 .11 113 .7 .6 .9 11
68" SPAN 2 ; 3
&E [[ @] 174"
=
1/4' RAWL LOK/BOLT (SLEEVE ANCHOR) | 88" SPAN 2
11/8" MIN. EMBEDMENT 11/4"
>
105" span 2"
114"
>
124" span 2
114"
=
68" SPAN z
St 174"
e 3"
88" SPAN I - R S S A A I I S - = I S S T -SSR RN R N A
1/4" RAWL ZAMAC NAILIN DRIVE 114 |8 V3 T34 Ts s
(HAMMER DRIVE )
13/8" MIN. EMBEDMENT IN CONCRETE | 105" span
11/4* MIN. EMBEDMENT IN BLOCK
124" span
VARIOUS HEAD TYPES e
§ DD U Ik al) N U O RO S 0 20RO O 00 O R L 20 R S S O R
%
i =
P T L3
>
(MASONRY SCREWS) 105" span 2
1/4" RAWL PERMA-SEAL TAPPER 11/4°
1/4" ELCO PANEL MATES 3
11/2" MIN. EMBEDMENT IN CONCRETE | 124" span 2"
11/4" MIN. EMBEDMENT IN BLOCK 14"
=
68" SPAN | 25'
L
5
1/4-20x 718", 1/2" DIA. 88"SPAN | 25"
RAWL CALK-IN 2
(MACHINE SCREW ANCHOR) 3
7/8" MIN. EMBEDMENT 105"span | 25'
2"
¥
124" span 25"

EB—0006024

RS ENGINEERING, INC,

SPANS AND LOADS SHOWN IN THIS SCHEDULE
ARE FOR DETERMINING ANCHOR SPACING ONLY.
FOR ALLOWABLE SPANS VS. DESIGN LOADS
REFER TO SHEET 4.

MINIMUM ENBEDMENT AND EDGE DISTANCE EXCLUDES
STUCCO AND/OR WALL FINISHES.

SHADED AREAS REPRESENT ANCHOR CONDITIONS THAT
ARE NOT ACCEPTABLE.

IT SHALL BE THE RESPONSIBILITY OF THE
CONTRACTOR TO VERIFY THE SOUNDNESS OF
THE STRUCTURE TO WITH STAND THE ADDITIONAL
LOADS AND INSURE PROPER ANCHORAGE.
SHUTTER SYSTEM MAY BE INTSALL INTO WOOD,
CONCRETE OR MASONRY.

Contrs!

r~
REVISIONS

03/20/98|sp

06/12/98]spP

08/14/98|sp

01/17/01 |sp

01/05/06 |sP

r

|

2100 W. 76th STREET, SUTE 311
HIALEAH, FLORIDA 33018

RAMMS ENGINECRING, INC.
Sisctinat  Design

EB 0006024

FL 33014

HIALEAH,

I IWEICQI;I ELCH, e

EST.1957

SEP/JRB/RSM
APPROVED

BATE:
01/10/98

ENE
SHOWN

)
98001
ez

6

| | BUILDING CODE COMPLIANCE |

\" 7 =




AN CHOTFR

S CHEDULE

WOOD APPLICATIONS

UP TO 59.5 PSF UP TO 71.5 PSF UP TO 81.5 PSF UP 70O 91.4 PSF
CONNECTION TYPE CONNECTION TYPE CONNECTION TYPE CONNECTION TYPE
ANCHOR TYPE DIA. SPAN Al Blclbp]E Al sBlc]pD]eE Al B | cC D | E Al B | cC D | E
(““Q G8"SPAN | 14 ;13 . 5...13 ;13 |12 :12' 5 12 112 |10 i 7 1.4 10 10 | 9 ' 7
WA | BRASS WOOD BUSHING 1420 | 88'SPAN | 11 @ 8 4 11 1|9 1 4 3 16 7
105" SPAN 4 .
1" MIN. PENETRATION 124'SPAN| 8 & 3 | é _______________
68" SPAN
oM | ue [oroom :
WOOD LAGS 105" SPAN
1" MINIMUM TREAD PENETRATION 124" SPAN
68" SPAN
ORI | e oo
WOOD LAGS 105" SPAN
1" MINIMUM TREAD PENETRATION 124" SPAN
68" SPAN
O | s e
WOOD LAGS 105" SPAN
1" MINIMUM TREAD PENETRATION 124" SPAN
68" SPAN
En e
WOOD LAGS 105" SPAN
1" MINIMUM TREAD PENETRATION 124" SPAN
68" SPAN
= BRI e
1/4" ELCO PANEL MATES 105" SPAN
1.7/8" MIN. THREAD PENETRATION 124" SPAN
68" SPAN
PE T | we s
1/4" ELCO PANEL MATES 105" SPAN
17/8" MIN. THREAD PENETRATION 124" SPAN
VERIOUS HEAD TYPES 68" SPAN
U= 88"SPAN | 14 | 11 6. 13,
1/4" MASONRY SCREWS 1/4" 105"SPAN| 12 & 6 5 . 8
1.7/8" MIN, THREAD PENETRATION 124" SPAN : L3l

NOTES:

SPANS AND LOADS SHOWN IN THIS SCHEDULE
ARE FOR DETERMINING ANCHOR SPACING ONLY.
FOR ALLOWABLE SPANS VS. DESIGN LOADS

QY,
REFER TO SHEET 4. A\ 5
1 It o
WHEN ANCHORING TO WOOD, THE WOOD MUST BE S
A MINIMUM 2 X 4 EQUAL TO #2 SOUTHERN PINE - e "
0.55 SPECIFIC GRAVITY PRODUCT REVISED " .» 1
AND STRUCTURALLY PART OF THE FRAMING STRUCTURE WL e Tisrida <
OR SUCURELY ATTACHED TO FRAMING STRUCTURE e g s
-0 LQ .0 4, 3 pr———
SHADED AREAS REPRESENT ANCHOR CONDITIONS THAT % Q.Z«‘«LZ'LO i 2 | SEP/URB/RSM_|
ARE NOT ACCEPTABLE. /] ©
f § & ' S T A ‘4*:\ 7 Y 78 98
IT SHALL BE THE RESPONSIBILITY OF THE (/i tﬁxr’{iﬁﬂ?ﬁﬂt*—m Cantook S | 01/10/% |
CONTRACTOR TO VERIFY THE SOUNDNESS OF i 1 Bivision S SHOWN
THE STRUCTURE TO WITH STAND THE ADDITIONAL RN E Rt Yy ! o 98001
LOADS AND INSURE PROPER ANCHORAGE. LY [ § e
gg%%'ﬁﬁﬁsggfm g(%?gs INTSALL INTO WOOD, ROBERT S. MONSOUR, PE 3 7
EB=0006024 &
RAMIMS ENGINEERING, INC. G 7 vern
__g

rREVISIONS BY

08/14/98|spP

01/17/01 |sp

01/05/06 |sP

r

}

RAMMS ENGINEERING, INC.
Sisctinat  Dusign

EB 0006024

HIALEAH, FL 33014

7 7!! IWEIQI;I ELCH, ncC.




